12|Z1} Euclid 2HH

Ael 1.1.10
4+ aeZ 2 At

g

N Ol Ci3to
a=nq+r,

- o s
= s Cisstol M

—

(division algorithm):

F_Q

= ne
0<r<n

A
Ot=sH=

a2l 1.1.11
g+ acZ2 b=00 L5t

a=bg+r, 0<r<||

2
_I_
i
=]
A
_0

=40 ts

St=

A
=
AL
=

Ca=2tof M Of2f 7tA

32| 5.7.12
H

F[x] el LM 2i2|F(division algorithm)

9] otetdl f(x),g(x) e F[x], g(x)=00 cisiof
f(X)=q(X)g(x)+r(x), r(x)=0 =& degr(x)<degg(x)

AE q(x),r(x) e F[x] 7t St Exfetet.

=13
=

2 5

oo o}
o=2 =

&O| 5.11.7 {22/= ™¥Y(Euclidean domain, ED)
H9 D<o ct g d:D-{0} > Nu{0}
1. 2= a,be DO Ci5to d(a)<d(ab)
2. a,beD, b=00| Cisto]

a=bg+r, r=0 E£& d(r)<d(b)
HESHE g, re D 7 EX{HCE

DE R22c Yozt 31, d & 7

= St=
be

Norte
%%ﬂ C ~MdA

Qlst
— o=

==

OlM =1t LIHX| q,r O] &
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el 5.11.9

7oA Haz Z[ile N(x+yi)=x"+y’0] R22|

| _LEEDZO

_ —

Note
722l 9 Z[I]oM Rt HHX| o,r 2 FLSHA| SC
32l 1.1.8
¥4 a,b,q,r ol CHsto] a=bqg+r Ol gcd(a,b)=gcd(b,r) O|Ct.

Note
de| 1.1.80M r2 Lixd gne|ge =H 0£r<|b|% otEsg et glct
Lisd 2n2|50| Cist(EsE) ALt HM0o| &= 0|FO0|Ct
&gl 1.1.17  Euclid ¥12|S(Euclid ZH ')
a=bg, +r, 0<r, <[b|
b=rq,+r, o<r,<r,
L=nro,+n, O<n<r,

r-n—2 = n—lqn + r-n O < rn < I’-n—l

1 =0
ol gcd(a,b)=r,o|Ct

Norte
FE22E S AFRE HSH 22H7HM
a,bol o 324+ d=gcd(a,b)E a2 bol LxtAS d=ax+by 2 LIEFH = QUCt

Euclid 2X'H2 S AY+E ot HAX0|1 HEXMQ BHHo|Ct
H2 M2 Euclid SH'He| %[CH ZH™oO|Ct

Ol (33371,69184219)=13 = 13=-642687x 33371 + 310 x 69184219

Of  QIXJOIM (X°+2x* +2x°+7X° +x+5, 4x* + 2x° +5x° +2x+1) = X* +1

= x2+1:3%(x5+2x4+2x3+7x2+x+5)+(—£x—ij(4x4+2x3+5x2+2x+1)
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g #%y
Toprs

AGAHOME 3K g2 &

w2t B840l HHO HA

YBAIHO LS A4 M

thasi4R)0l AN Eudid SHE (LA 202152 0188 Tat gicty

b4 20250l 0|2l gFo| F2T Bt Ut

2| 1.1.12 gxzgez o 3% BHLT|
= a,beZo zU 3%+ d=gcd(a,b)E a%t bol AZEY

d =ax+hy

g xet y 7t EXSLE =5

oT

ged(a, b) =min{ax+by > 0| X,y € Z} = min {|ax + by|: ax+ by = 0}

o] =
T A=

Ao Ed0 23 t=minS =au+bveS 7t ZX{TtCt.

LM 2ne|E0| QsiM 3q,reZ, a=tq+r, 0<r<to|2E2
r=a-tg=a-(au+bv)q=a(@-qu)+b(-vq) OlC}.

oY r>00[H reSO| t=minSO Z&O|C} M2t r=00[1 t|aolLCt
e WHOo=Z t|b, 5 tE a,bo 3Y+YUS & &+ ACL

c7t a,bo 8%+0|H dm,neZ, a=cm, b=cno|2Z

t=au+bv=cmu+cnv Ol c|tO|C}

matM c<[t|=to|22 t=au+bv=min$ =gcd(a,b) oIt
Note

gl 1112 Lixd €12[F9| OttEtz Yol 7|2

g+ aez2l Hix2 deh(ast ddsts FO[HH)S

2 MO
(a)z ~@
(gcd(a,b)) ={ax+by|x,y € Z} =(a)+(b)
O[C}. (&7 Ci==%t2| Main Theme)

el 11128 382 o He|(ol: Z= PID &) 82| 7|2 W{EHO|C,

~

o
—
A

= =
o o
S#J9 M8 — IminS = LM ¢12|F, LIHX| r = r=00/H 2+
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Bto| 7|F: AP

0|0+
rx
OH

-

2 IS 5.7.13
B Delol kAl f(x),g(x) e DIx]ol Chstol
g(x) o ZmARSte| A4t Fhedglo|
f(x)=a(x)g(x)+r(x), r(x)=0 == degr(x) <degg(x)
2 B8 & e q(x),r(x) e D[X] 7t SYstH Exysict

Norte
de|o] ZHO|L X2 Z0[tEofA

a,b)=d = 3s;t, as+bt=d
a,b)=1 < 3st, as+bt=1

S AFBBIITHY L YmalEe M3 ZO|K|E Bl Lisy Yna|ES AFein ¥ect

M2 11127 Lhed 2aa|E0) An0|2R Me| 111225 S5 B HISE

LpeA 2malzel Atolct

JBL SHIEO| ek 2TalEe AZEX ¥, He 11128 oFeHM Syt

S Sof Lhxd ¥nalZeol Zotel ofg Falol SHolE Lisd Yna|F0| AT ER Yer
el 1.1.14

T &% a,bof cistol CtZ0| HESHCE

d|abojx (d,a)=10% d|bo|ct.
(a,b)=d ol c|a, c|bO|® c|d O|LC}.
2= p?t plabo|® platk= p|bolct
4. a|lm, bjmojx (a,b)=10/H ab|mO|LC}.
|ab| = gcd(a, b) Icm(a, b) ol ct.

W=

v

Norte
LI gneg|Eel o™l 5282 OotFe| Zdxdie ZXf2HK[T,
AZA|IYO| EHotofl= sHAMM™2|(Of: M2 1.1.12)8 SHY Mozt Ag2 7tsd0| ALt

=2t G=(a) 9 XYt 22Z2 =gz {e}=(e)0IC}
H ={e}o|x S:{keN|akeH {e}};t@ow:; m=minS 7t Zx{st1 (a") < H O|C}.
oz a“cHol thstod k=mg+r, o<r<m=minsol2 a"=a‘a™ eH ojct.

Y 0%r<mO|/H m=minS 0| 20|22 r=00|C}.
et a¥=a™=(a")"e(@")ol2 Hc(a")olckh
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H F 2o chaMer Flx]= Fo|oe EHo|ct

Ol
08

9 F[x]el olHY 1#(0)7 Folo|LYe Lo|H gt
Nu{0} o 2&2&e S={deg f(x)] f(x)e | —{0}} =D 0ll ThStO! minS =n7t Ex§stct.
et deg p(x)=ngl p(x)el 7t ZxXsta, (p(x))< | olch
doz f(x)el of CHsto
f(X)=g(X)p(xX)+r(x), r(x)=0 == degr(x)<degp(x)=n

2 UES= oAl q(x),r(x) e F[x] 7t Exjzict.
100,007t OIHE 1 21 Bbol22 100= f(0-a00p() < o1

A r(x)200|™ degr(x) eSOl degr(x)<deg p(x)=n=minS 0|22 R2z=0|LC}.
matd r(x)=00l2, f(x)=q(x)p(x)e(p(x)) 0122 | =(p(x))olct.

’SEI 5.11.8 D = PID

Z22|E Z92 FO|HY FHolot.

Note
"2l 57.15 F[x]= PID"e| ZHO|A degE d 2 HHHH HE| 51182 THZ Y=Lt
f22/E FAo o|HY | = (0) ol thstod min{d(b):be | —{0}} =k 7k Ex{sict.
matd d(@)=k e aelZt Exstn | =(a)olct.

g
RFEEE 92 Z 2 F[x]el S 72 U & + A= FHoICh.

&gl 5.8.1
H F ol tretal f(x)eF[x] 2l K47t deg f(x)=ng o
F[x]/(f(x)):{an_lx 1+---+a1x+a0+(f(x))‘akeF}

0| Malstict,

odic

B9 g(x) e F[x]oll st L 2|50l 2siM
g(x)=q() f(x)+r(x), r(x)=0 == degr(x)<deg f(x)=n
g UFEsHE q(x), r(x) e F[x] 7t EX{ect. et
gO)+(F09)=r()+(f(x)
=a, X"+ +ax+a, +(f(x)e F[xI/(f(x)
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o
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c

g
10
ol

ojn

A
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A

3

Hgel #5 0|8

k=3

el Euclid

=
10

ol

Euclid 3|
(9005, 3003)
3. (2793, 1953)

v

2. (1508, 462)
4. (18183,6069)

1.
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